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vx e R—{Z ik <2} vx eR vx eR
tan(—x ) =—tan(x ) Sin(-x) =-3in(x) Cos(—x) = Cos(x)
tan(z —x )= —tan(x ) Sin(z-x)=Sin(x) Cos (7 —x)=-Cos(x)
tan(7+x )= tan(x ) Sin(r+x)=-3in(x) Cos(m+x)=-Cos(X)
tan(%_xj:t 1( ) x #0[2x] Sln[%— j Cos(x) Cos[%—szsm(x)
an(x
n _ 1 - Sin| 5 +x |=Cos(X) Cos| Z+x =-Sin(x)
tan(§+x]_—tan(x) Ix #0 2r ] (2 j [2 J
tan(x )= 20 (%) ~l<Sn<l ~1<Cox <1
Cos(x) Sin(x +2kz)=Sin(x) Cos(x + 2k )=Cosx
1+ten® (X ):COS]é(X) Sin(x+kn):(-1)k8in(x) Cos(x + kn)z(—l)k Cosx
1 Sin(n%j:(—l)n Cos(nz)=(-1)"
Cotan(x)= tan(x )
sinz(x :;anz(xz) Cosz(x)+8in2(x):1
+1an
; b tan(a)+tan(b) Cos(a+b)=Cos(a)Cos(b)-Sin(a)Sin(b)
an(a+b)= 1-tan(a).tan(b) Cos(a-b)=Cos(a)Cos(b)+Sin(a)Sin(b)
~ tan(a)—tan(b) Sin(a+b)=Sin( a) s(b)+Cos(a)Sin(b)
ten(a-b) l+tan(a).tan(b) Sin(a-b)=Sin(a)Cos(b)-Cos(a)Sin(b)
_ Sin(a+b) Cos(a)Cos (b) = l[c s(a+b)+Cos(a-b)]
tan(@)+tan(b) Cos(a)Cos (b) _ _ 12
Sin(ab) Sln(a).Sm(b):z[Cos(a b)-Cos(a+b)]
tan(a)—tan(b )= (

Sin(a)Cos(b)=% Sin(a+b)+Sin(a-b)]

Cos(2a) =Cosz(a)—8in2(a)
= ZC:osz(a)—l
=1-2Sin?(a)

Sin(2a)=2Sin(a)Cos(a)

2tan(a)

tan(2a)=1_tan—2@)

Cos(a)+Cos(b)= 2Cos(a;b j Cos(a%j

Cos(a)-Cos(b)= —ZSm(aerJ Sm(%j
Sin(a)+Sin(b)= 2s|n[ b

Sin(a)—Sin(b):ZSinLa
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tztm(%] Lx s 13 ,(a

2 1+Cos(a) =2Cos (Ej Cosz(a):1+CO;(2a)
Cos(x) == oot . 2(a

1;:'[ 2 l—Cos(a) =23in 2(5) Sin Z(a) — 1—C028(28.)
Sin(x)= 3 : . (a a _

1112 s|n(a)=2s|n[§j.(:os(§j tan2(a)= 1-C05(23)

% 1+Cos(2a)
tanx =—2 3

1-t
X =+ 2K X=a+2kn

Sl Ik eZ

X=m—-a+2kr

Sin(x)=8in(a)<

sl lkeZ

X=—a+2Kr

Cos(x)=Cos(a)<

aCos(x)+bSin(x)=va2+b2Sin(x +a)

aCos(x )+bSin(x)=+a2+b2Cos(x —«)

: _a _a
Sin(a)= s :. Cos(a )= =0 B
b 5.9 H _ b 5.9
Cosa)= e SN = zrpe
tan(x )=tan(a)=>X =a+kn/k €Z
o | ¥ | 2t | T n T Ul
X i 6 4 3 2 3 4 6 0
Sin(x) 0 1 V2 NE] 1 3 V2 1 0
2 2 2 2 2 2
Cos (x) 1 _ﬁ _Q 1 0 1 Q @ 1
2 2 2 2 2 2
tan(x ) J3 g V3
0 -3 -1 ~J3 g J3 1 5 0
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